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@ (a+b)(a-b)=a®-b?

@ (a+b)? =a®+ 2ab + b?

® m(a+ b) = ma+ mb

@ (ax+b)(cx +d) = acx® + (ad + be)x + bd

® (a+b)(c+d)=ac+ bc+ad+ bd
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@ 103x97 = (ax+b)(cx+d)

® 104%x105 = (x+a)(x+b)



3.

xty=4, xy=-2L 0, x*+y* 9

@ 5 @ 10 ® 15



4. a-b=-2,ab=4 4 W, a®+ b* o] 327

@ 8 @ 12 ® -4 @ -7 ® -15



5.

x+y=5x2+y* =13 & o, xy O] F2?

@ -6 @ -12 @ 4 @ 6

® 12



Al
2

ol-g-5ko] Alxtsto=t,

20112 = 2012 x 2010




1234
43212 — 4320 x 4322

> S
=%

o g2 Fatolat



@o2x =1, 224 - o gk Fafedet,

X



9. (4+2)(4%+22)(4% +24) (43 4 28) — 231 4 215 & 7kH3) Sfolat,

D L
=%



b —]
10, @+ %45 =10,02- D 12 5 A, (a-b)? 9] g2 Tl

D L
=%



